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BRERER
ﬁ*ﬁﬁﬁq i FIHovkk
BATRE | BAZKE BN.x Rk BM.x % # BAAREE | BASK#E BE.x %% BF X %#% BQxR#k
118 1 - - - - - 1 (100.0%) - 1 (100.0%) -
12R 16 = 2 (125%)| 1 (50.0%) (50.0%) = 14 (87.5%) = 3 (21.4%)| 4 (28.6%)
BN.xF#E. BM.xR#EIEBA2RIBED %K
BE x%#f. BF xR#k. BQ.xR#ILBA LSRN A%
2 SETORFHER (SEHOBEREED)
BRERER
ﬁ*ﬁﬁﬁq i FIoovkk
BATRE | BAZKE BN.x Rk BM.x % # BAARS | BASKEE BE.x %% BF X %#% BQxR#k
1R 3 3 (100.0%) - - - - - - - -
2H 36 | 33 (91.7%)| 3 (8.3%) - - - - - - -
3A 10 6 (60.0%)| 4 (40.0%) - - - - - - -
4 H 13 3 (23.1%)| 10 (76.9%) - - - - - - -
54 13 - 13 (100.0%) - - - - - - -
6 H 12 == 8 (66.7%) - - - 4 (33.3%) - - -
7R 65 - 9 (13.8%) - - 1 (1.5%)| 55 (84.6%) 4 (73%) 1  (1.8%) —
8 A 70 = 1 (1.4%) — - = 69 (98.6%) 1 (1.4%)| 15 (21.7%) —
9H 25 - 2 (8.0%) - - - 23 (92.0%) - 7 (30.4%) -
108 16 = = = = = 16 (100.0%) = 10 (62.5%) —
1A 40 - 3 (75%)| 2 (66.7%) - 37 (92.5%) - 18 (486%)| 3  (8.1%)
12R 16 = 2 (125%)| 1 (50.0%)| 1 (50.0%) = 14 (87.5%) = 3 (214%)| 4 (28.6%)
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https://www.niid.go.jp/niid/ja/2019-ncov/2551-cepr/11680-sars-cov-2-23.html
https://www.tmiph.metro.tokyo.lg.jp/lb_virus/worldmutation/

